
Soustraction Avec Des Zéros (B)Calculez la différence.
100 100 100 10- 89 - 28 - 50 - 2

10 100 100 10- 4 - 90 - 57 - 2
10 10 100 100- 1 - 10 - 75 - 29

100 100 10 100- 81 - 55 - 5 - 60
100 10 100 10- 62 - 5 - 8 - 7
100 10 100 10- 72 - 6 - 13 - 6

10 10 100 10- 5 - 9 - 47 - 10
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Soustraction Avec Des Zéros (B) RéponsesCalculez la différence.
100 100 100 10- 89 - 28 - 50 - 211 72 50 810 100 100 10- 4 - 90 - 57 - 26 10 43 810 10 100 100- 1 - 10 - 75 - 299 0 25 71100 100 10 100- 81 - 55 - 5 - 6019 45 5 40100 10 100 10- 62 - 5 - 8 - 738 5 92 3100 10 100 10- 72 - 6 - 13 - 628 4 87 410 10 100 10- 5 - 9 - 47 - 105 1 53 0
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